—_

N

w

S

(&;]

(=]

REHE -
BREAE

REAR -
®m & B:

z D i

NIREBEERE (RRICRBLEERE) REOHERICONT
MHE CELE REEER
HAH IRMEYARRR

(1) FI= LFERIREBRICED ¥ MARTIAAN) =12 & HR%IENHT
(2) REEMGERTERICIRHELI-2RE1RE6BSTLRE
TR 27T F

11 A 9H

~ R 21 % 1A 148

TR 27F 11 B 17 8

(1) RETRELIICOBRBHBTERTIENHEKLIZ/NDETHY, RERE, RADIK
BF[ZLHO>T—ETIEHYEE A,
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1 EMEREER 3.639 T;*{ﬁfj Z:"i"ﬂ 0~0.000104

2 EMEFIRAEETEH 4.605 T‘ff:j ;'j*f?':ﬂ 0~0.000134

3 ETREETE 3.190 IoE G 0~0.000071
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075 X 0.000013 x 3.610 + 131 X 0.0000097 X  3.610 = 0.000081
(Ba/Kg) (mSv./Bq) (Kg) (Ba/Kg) (mSv./Bq) (Kg) (mSv)
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1 1.14 X 0.000013 Xx 3.639 1.41 X 0.0000097 x 3.639 = 0.000104

2 1.25 X 0.000013 Xx 4.605 1.33 X 0.0000097 x 4.605 = 0.000134

3 1.05 X 0.000013 Xx 3.190 0.90 X 0.0000097 x 3.190 = 0.000071




